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T 3397 :

(i) 3G Y97 9T HI T YFT, Y7 37 3K YFT &, § Fier T & | 39H 3 Ir & g &
I forad & 1

(i) @4t yeT SAarE & /

(iii) QI¥T-97 G 1551 397 & FIE 997 919 787 & |

(iv)  T9H YIT 37 3K Y71 & & TH Fe9] & I GIF-JIF 9T & IR T forgd & |

W) HTHFYTGET1 83 3 I TH-UF 3H & & | 379 I Uk Jeq IH9d] Uk
FFTH I/

(i) YT HF FFT LI 4 T 6 P 97 51-31 Al & & | 399 I T 30 Vgl 7 37
g1

(vii) N7 3T & Y97 G&IT 7 G 18 & ¥¥7 -7 Hl & 8 | 399 I TTHT 50 Vgl 7
G &1

(viil) 97T 37 & Y97 G&IT 19 T 24 3 F97 Gi9-Ti9 37H] & 3 | 379 I TTHT 70 9155 7
G &1

(ix) 97T § % 397 &7 25 T 33 3 Fo JANIHF FIA T ARG Tglahetd 5o7 & |
% Y97 U 3F H1 & | U T IR fadbeql § @ 379l FIT U qad I9PE
fasey 7T 8 |

(x) U § & J97 G&IT 34 T 36 P I FINTIcHS HIVIcT W HTERT 31-31 37h1 & Fo7
gl Imarmaai s

General Instructions :

(1) The question paper comprises two sections, A and B. You are to attempt both
the sections.

(it)  All questions are compulsory.

(iit)  There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v)  Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

(x) Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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T 3
SECTION A
1. 39 99 Uit o Ugd 4 gedl o U-gH fafau e yemicres @
~COOH?? | 1

Write the molecular formula of the first two members of the homologous
series having functional group — COOH.

2. WHGl § SHHI: I IR U 39 A aTel M hl 99 faRaT | 1
Name the organs producing sperms and ova respectively in humans.
3. WMa ffia feeel g1 wiftast & am fafau | 1

Name any two man-made ecosystems.

4. T=fafea sm@ #i o I-geah | Gl wafda fhur 1 99 geise |
Y TG W TG hIU (£ i) 3T Wedd HIv (£ 1) H 3Afrd Hifvw | 2

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

5.  TicAlefi| skl AfA= o ITANT ok HRUT YT T USd T o9 BT-ehReh THTE
1 Iooi@ hIT | 37 At 1 IS g9TEt foehew sy | 2

Mention three harmful effects of using polythene bags on the
environment. Suggest an effective alternative to these bags.
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“Shrareeft et 1 T AfTeres SEHU T T HRU B |7 0 HYT & YT H HRT
dfer |

“Burning fossil fuels is a cause of global warming.” Give reason in
support of this statement.

3T T AR w1 AW igu Seert 39T Tewnlgial i 3l H ®9aid
A T foran Srar B 1 (1) fotema qfiequr, IR (i) Aifead BRI HEiHe & @Y
AMYTRAT o ATYR T T 3 TAHTSH 3T & s faded Hif |

Name two oxidising agents that are used for the conversion of alcohols to
acids. Distinguish between ethanol and ethanoic acid on the basis of
(1) litmus test, and (ii) reaction with sodium hydrogen carbonate.

T <4 g AT i foh &1 Fi 7 fob e 9 a1 C4+ g &1 Fha @
IR T & C4~ RO 1 Tohell 7, Trg I8 TSt Afieh sH1aT 8 S forgga <
FaTAS Bid 7 IR foFept f e 3R et srareTes giam ® |

Explain, giving reason, why carbon neither forms C** cations nor

Cc4- anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

forelt omad Groft § awail & affeRtor & foiw W] gerge S o § T
AT Wi ATh ITYE WA F1 HAT AT 8 ? 3NY(eh 3mad aroft | (1) foreft
AEd H A% IR § QR AN AW W, AN (i) Tret T8 # SN & A= IH |
Al ot uifeash @0 fohe TehR aREfdd BT 2 2 319 ITRI Y HRoT A gfse
HIT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

fopelt arear <A1 oY) HEE 20 R |

(a) 39 a<d o Soi(eh fo=ame forgent s9eh! Tastehar faifa Hifse |
(b) I I AT T B AT YT ?

(c) 39 I o FeINI3S o ¥F foAfEm |

(d) o ¥8 a Mg (WHI] GEan 12) i qan 0 aifees srffsramshiar ®
JTET A AGRATI ? I I h1 HRYT Aigd gee HiT |
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The atomic number of an element is 20.

(a)  Write its electronic configuration and determine its valency.
(b)  Isit a metal or a non-metal ?
(c) Write the formula of its chloride.

(d)  Is it more reactive or less reactive than Mg (atomic number 12) ?
Give reason for your answer.

11. gt # fafiear forg R Saae gt & 2 “Tafyaar wfisfis i soifaar sAm
@ T 3wf 7 |7 59 e i gfsd fopelt Igreter it e & Shifv | 3

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

12. U%gUad 1 g ? Tohelt weh Sfia o1 Igrewor difre St s| gfshan @i gurfar 7 31k
T S ST 39 SfRAT i A1 quIidl & | 91g Tl Sl H JAegHad i 4g sl 2 3

What is regeneration ? Give one example of an organism that shows this
process and one organism that does not. Why does regeneration not occur
in the latter ?

13. MUy w1 7 ? el @ faftml & 9m fafaw | =1 el s swam foedt
IRER & @ 3R §gfg ol Ty §9 ¥ fhd TR wwifaa s & 2 fhel
@ fargal =1 Ioei@ HIfT | 3

What is contraception ? Name any two methods. How does the use of
these methods have a direct effect on the health and prosperity of a
family ? State any three points.

14. 37 JMUALIUN 1 Tsh 3BT ST oepT 39 I8 Fuif s § foman s @1
g b S faeera & ugi 0 g wisits foha fehe 2 | 3

Give an example of the characteristics being used to determine how close
two species are in evolutionary terms.

15. foreft 7% TefS o 3gWa H UM fohgl iF il hl T SHRY 3R TAh
i YfHeRT 1 39 99T | 3g@ i | 3
List any three factors and mention how they could lead to the rise of a

new species.
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foreft <m gro =4 ufafors 1 sada —1 3 | 3fe ufafars i & & e
¥z 820 25 cm B, A1 e e 0@ 2 2 78 o ) TR S BE 0 T
Hif | Afg foma 1 < & THIREh ohrg I AR 15 cm TAFFANG HL e
ST, o Tfcfos gl S 2 79 I <6l gfee fortur omi@ wient ShifvT |

The magnification of an image formed by a lens is —1. If the distance of
the image from the optical centre of the lens is 25 cm, where is the object
placed ? Find the nature and focal length of the lens. If the object is
displaced 15 cm towards the optical centre of the lens, where would the
image be formed ? Draw a ray diagram to justify your answer.

M@ H HEgRd & Tse FHIf foF arqreea saadq foha R 1fim e
3R focfera F@rea sl aitae o T ITEeR @ | 39 9iee o SRoT geell ™
fea i srafy & ferar o=t g1 S & 2

With the help of a diagram, explain how atmospheric refraction is

responsible for the advance sunrise and delayed sunset. How much time
difference does it cause on the duration of day on the Earth ?

JTYeh! HIATS i Ted & o8 a9 off o6 wati o W@ (@) aft & fow s/
AR Bd 3 | T T I gu=m-ud § 98 ugl foh a9R ¥ 3ueey 39
VST & Bl & W H $S T e TSHATA U MW | 3§ AR I8 SATHA &
TE, FAIfeh YTgehTei BAR Teed o ot gTiHent Bid & |

(a) 3T A IS 1 FIRL NSHARET GRT HAT b &I 1 HGoA BT
fohe TeRR TEEmET ?

(b) Ig gl Tl 7 fob ag wfe digehmft gaR 31T o= Sfiai & R °
TAI ik HiId Bd Id 7 3N Th HHr ¥ Ay g9 W gER S H
HiqUed Tk B Ugdld 8 | 38 GRESAT H1 AW IR 39k fowy #
faRem |

Your mother always thought that fruit juices are very healthy for

everyone. One day she read in the newspaper that some brands of fruit

juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.
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19. TEX F B & ? Tl ol fh8 TR SHRT STa1 & ? 8 aTelt A(Mishal o
e T fiflau | = grar 8 9 IS TE HifeIH BISSIadTss o a1y
AR T 8 2 39 ITTTshaT 1 TR IR, 9 TR 39T fafgu | 5
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

20. THferl AR IwAfer Tl 1 Teh-Th IO ST | g9l H B el T h
q YhRI o st fave HIfSre | 1 grar 8 ST hig wWrTewvT Tt 3wk afdem
T UEd AT 8 ? AUSRA H ofiS fHfor 76 B Al "eAre o o’ H ey | 5
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

21. SOwY #1 B § ? SHaw fhg YR §9d § AR gl Y &1 e fhm
ghR TR ST 8 2 A9 fIentd & 31533 § S9T9Hl & qg i ool HifY | 5

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

22. I ¥ % TR | foraglt (u) o @ faferaglt (v) < fommor i g areft
frfaRaa Yeror arferent w1 fargeivor iy it aftere fopg fom &t fmfafea

I o I E‘ﬁﬁl’Q : 5
i fragd a0
qen u (cm) v (cm)
1 - 60 + 12
2 - 30 + 15
3 - 20 + 20
4 - 15 + 30
5 - 12 + 60
6 -9 +90

(a) I 8 i BIE g Tehal @ 2 319 I o foIg wror i |
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(b) =8 feragh (w) Fa Ff Skt agedt wfafera-gll (v) 98 T8 & 1 us
Frerd ae o geRR femTe 2

(c) I3 ¥t ITYh AT AHHL Y0 T 4 & o fopor em@ Eifau ik
AT T THT HE J1d I |

Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

3. No. Object-Distance | Image-Distance
u (cm) v (cm)
1 - 60 + 12
2 -30 +15
3 - 20 + 20
4 -15 + 30
5 - 12 + 60
6 -9 +90

(a)  What is the focal length of the convex lens ? State reason for your
answer.

(b)  For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

(c) Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

(a) Tl guuni o deH # fr=faRad et <t wftame dife

(1) gd

(i)  Jshal g
GHICETIREED)
(iv) H&I &

(b) (i) T9q« gUUl, 3N (ii) ITA GUUT o GEI HBIhd i M % foIQ foptor
mw Eif |
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frfafaa Mm@ d4, MM’ i3 379dd cUUT & 991 AB s fore 8| 39
fora &1 yfdfors s91 goia & fofe ot S-gfeas w fomor sm@
it | 5

W

=Rl N R

Define the following terms in the context of spherical mirrors :
) Pole

(ii)  Centre of curvature

(iii) Radius of curvature

(iv)  Principal axis

Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (ii) a convex mirror.

In the following diagram, MM’ is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

M
P
C F B E
T
HHa 99 & F=faiad g 91T <61 v fafay .
() i
(i)  gRErieEst
(i) ~ foreeeta (efimm) <im
Gv)  ueAnsft ufsmt
(v) e
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(b) I3 ARE 1 m ¥ A gl W feua fawail o1 awe 781 <@ uran | 98 e

gfee g @ difsd & 2 39 gf QW &1 RO 3R IUYH FG gHT ST

| g2 < foTg oo s Eifem | 5
(a)  Write the functions of each of the following parts of the human eye :

) Cornea

(i)  Iris

(ii1)) Crystalline (Eye) lens

(iv)  Ciliary muscles

(v) Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable
lens.

g
SECTION B

25. TefaRaa ammfl o ag== § & fohdent SURT A1EH oW | TR ST Ehat 8 2 1
(A) | 7 R Hicoaw FEgaETES
(B) TUE HI A IR Aifeam gEgiass
©) @ i s e e
D) e s A At
Which one of the following sets of materials can be used to prepare soap ?
(A) Neem oil and calcium hydroxide
(B)  Castor oil and sodium hydroxide
(C)  Mineral oil and sodium hydroxide

(D) Neem oil and magnesium hydroxide

31/2/1 10
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26. 3! JATENEA H 3R T 9H < foTw st T 7 | F=fefea aaon & aug
H 9 39 ggg I g, o fret ft 1 @au @l o9 oTga ST H Hietet
FHAT T ITed L Hehd @ | 1

(A) NaCl; NaySOy4; KC1

(B) NaCl; CaCly; KCI

(C) CaCly; CaS0O4; MgSO4

(D) NaySO4; CaSOy; MgSOyu

You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in
distilled water to obtain hard water.

(A) NaCl; NagSO,; KCl

(B) NaCl; CaCly; KCI

(C) CaCly; CaSOy4 MgSOy
(D) NaySO4 CaSOyu MgSOyu

27. Ifg 39 fopelt et § $© g A oiokl ITH TUH HET H UHieH 3
firamd st T 38 foyw o wefl-vifa fead ot o8 oma & fow 38w
Tvg W fom1 feamu-gar @@ €, af e 5 fie 99=rq 319 a1 Jefur hidl ? 1
(A) THifCH T I WA W AA hl T |
(B) hi3 38T WE! I It WSS W R |
(C) W@ § TEH A9 o ol vt @ 2 |
(D) WETA § =3, TIEF el faeas a9 T 2 |

If you take some distilled water in a test-tube, add an equal amount of
acetic acid to it, shake the test-tube well and leave it undisturbed on the
test-tube stand, then after about 5 minutes, what would you observe ?

(A)  There is a layer of water over the layer of acetic acid.
(B) A precipitate is settling at the bottom of the test-tube.
(C)  Bubbles of colourless gas are coming out of the test-tube.

(D) There is a clear, colourless transparent solution in the test-tube.

31/2/1 11 P.T.O.
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28. Wﬁwﬁ%%ﬁﬁmﬁ%%ﬁﬁﬁ@%m@ﬁﬁ Y-y
I. 9% HIRER QA A1 Al Fafd Sl § fawisa st 8 o @
S W1 AfEded THT Bl ST @ |
II. 399 Sffopd Shrgeh o1 A1 ATk Fafd shrgehl | fawTiord gram 2 |
III. % 9 oh fohell TR & H I3 Jobdd SHAAT 7 |
IV. % & 8 T BH o 99aTd Gt U foehf¥a grept a1 Taad Siia &4
Bl
A)  Had I (B)  dhadt III
(C)  had IT SR III (D) had I SR IV
Choose the correct statement(s) on budding in yeast from the following :
L A parent cell divides into two or more daughter cells and here the
parent identity is lost.
I1. In this the elongated nucleus divides to form two or more daughter
nuclei.
III. A bud arises from a particular region on a parent body.
IV.  After detaching from the parent body the bud grows into a new
independent individual.
(A) Tonly (B) III only
(C) 1II and III only (D) IIT and IV only
29. fTmaffga & @ gusa o7 1 ag= gHT
(A) THEE % Wg 3R fadell & T
(B) e o U@ AN IHCE & 9@
©) Faaeht ¥ v iR F F T
(D) =< o 3UUTE, T & WIS N Bushell & UG
Select a set of homologous organs from the following :
(A)  Wings of a bat and wings of a butterfly
(B) Wings of a pigeon and wings of a bat
(C)  Wings of a butterfly and wings of a pigeon
(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard
31/2/1
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30. et = &l H13 YIS Ihh & 78 2 Srash! wiew gl a7 gd % ufders &
i & fEn § 39 g ¥ 24 om g W oA 96 W BihRd ek TG T
2 | 39 gt % 91 H HEl Hed gy | 1

(A) 12 cm %Y G I IAA G4
(B) 24cmm§°fqﬂ3ﬁﬁﬁ'€
(C) 24cmqﬁw@waqaaaaq‘m
(D) 12 cm BI%H G 1 ITA T8

An optical device has been given to a student and he determines its focal
length by focusing the image of the sun on a screen placed 24 cm from
the device on the same side as the sun. Select the correct statement about
the device.

(A)  Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 ¢cm
(C)  Concave mirror of focal length 24 cm

(D)  Convex lens of focal length 12 cm

31. Wid % TId ¥ oA dTelt Jehrer fohtor o1 vy smflea A & fore ffafea o

T garay YR Saedn g 1
I il I v

A I

B) II

(C) II

(D) 1V

31/2/1 13 P.T.O.
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Select from the following the best experimental set-up for tracing the
path of a ray of light through a glass slab :

e
/-

I II 111 vV
A 1
B) 1II
(C) III
D) IV
32. f=fcifiad 3@ § S19-% @ i g 3ifchd fopy Tu & 2 1
A) Tt (B) hdd Li3dAR LA
(C) /i, /r3IN LA D) /i, /A3 /D

In the following diagram, the correctly marked angles are

(A) Al (B) OnlyZiand Z A
(C) Zi,ZLrand LA D) ZLi,ZAand £ZD

31/2/1 14
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33. S« MU fordll 399 < g TH Y w9, el oefa e & W 7, %
it sl UG W BIeRHA Hid &, 1 9 W Fidfsws 6l mepia shet fomms <ot

27 1
AN
NV \1%4
(A) (B)
©) (D)
/AN /AN

When you focus the image of a distant flag, whose shape is given below,
on a screen using a convex lens, the shape of the image as it appears on

the screen is

(A) (B)

(9 (D)

31/2/1 15 P.T.O.
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34. (A 3 vy vHifew s b Tmfifaa S qoradt o deon i fdle e
% foTu gt e, dt 19 R fo 2

(1) g
(i) foTer® = ywE

(B) Jfg 319 U WEAel T UH bl HIfeIH TGN HEHS P et
3IqY §g-§g Hleh UHIesh 7 SIoi, dl 3T TG &l o1 J&Iur il ?
foredl o1 g equnt 1 = ST | 2

(A) If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour
(11))  Effect on litmus

(B) If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.

85. MUl “TH % SIS ok YUT ok T WET hT 9EEE R H TAN RET 3
ek g 3TYATS S aTedl fshaT sl 9uH shifvT | 2

You have to perform the experiment, “T'o identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

36. hid & ITFARR TS W 45° o I YT TAfdd Yehrel fortor &1 g9 3mfgd
FRTT | e i, frfa Hor o wie @ oA |/ e § 89 e aiidas
foremm <ht 79 foifeT | 2

Trace the path of a ray of light incident at an angle of 45° on a
rectangular glass slab. Write the measure of the angle of refraction, the
angle of emergence and the lateral displacement suffered by the ray as it
passes through the slab.
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